Application
Systems

Optics &
Optical
Coatings
Opto-
Mechanics
Bases [ |

Manual
Stages

Actuators &
Adjusters

Motoeized
Stages

Light Sources &
Laser Safety

Index

Guide

Vibration
Isolation Systems
Optical Tables
Darkrooms/
Dark Boxes
Optical Bases
Posts

Brackets
Adapters

Tools

D062

Stand Base/Stand Clamp | RCA/RC
Helicoidal Jacks HCS-H

RCA/RC

The base allows for posts to be positioned close together with the magnet of the clamps.

® Rod stand base can be secured onto a steel lab bench

with the magnet, or with the clamp. . .

@® The clamps locks down the rod stand at any angle
about a tapped hole.
PP RCA RC-10*-17/25
E Hexagon socket head cap screw

(stainless steel construction)
M6x15...1 screws,Flat washer

RC-10*-17UU/25UU

E Hexagon socket head cap screw
(stainless steel construction)
1/4-20UNCx5/8...1 screws,Flat washer

A depth 5.5

A
10 15 B
I —
$10 l !
pt ~ MR
D
¢3 locking | [ i i L
hole L
T | & y\I ! : LAY
A — .
Magnet ' ¥
— . $20 5
= - - = -
A A B
Part Number (mm) Part Number (mm) (mm)
RCA-M16 M16 P1 RC-10-17/RC-10A-17 42 17
RCA-M6 M6 RC-10-25/RC-10A-25 50 25
RCA-1/4UU 1/4-20UNC
' = Primary material: Stainless Steel (RC-10A-#+: Aluminium)
Specifications Finish: None (RC-10A-##: Black Anodized)
Part Number Product Name To hold Mounting V\/[Ie(lg]ht
RCA-M16 Stand Base M16 Rod Stand Magnet, Stand Clamp (RC-10) 0.023
RCA-M6 Stand Base M6 Rod Stand Magnet, Stand Clamp (RC-10) 0.035
RCA-1/4UU Stand Base 1/4 INCH Rod Stand Magnet, Stand Clamp (RC-10) 0.035
RC-10-17 Stand Base Stand Base (RCA-M16) Hexagon socket head bolt M6x15 0.027

RC-10A-25UU Stand Base Stand Base (RCA-1/4UU) Hexagon socket head bolt 1/4-20UNCx5/8 0.011

HCS-H
Coarse adjustment Helicoidal Jack with 15 mm of Travel
® The upper plate moves upward without rotating. Outline Drawing
® The helicoid screw system, provides 15mm/rotation of
smooth movement. HCS-H 60
25 25

H Hexagonal socket head cap screw
Mdx8...4 screws 32
Example of Combinations | 8-M4 depth 7
i v M
g 1% o E[ 83
e
g L\
5 e 4-M3 depth 7
Helicoidal jack 2 M16 P1 dopth 7
connected to a post :
holder. = e74 14
[ ]
[ ]
Primary material: Aluminum E _ Fay {
Finish: Black Anodized & el o
0
i i )
Part Number Lo ([Dr\ﬁpamty W[i'g]ht ; T Tt
< 50
HCS-H 19.6 (about 2.0kgf) 0.45 64 4-¢4.5 mounting hole

HOURS

www.hours-web.com


https://pan.baidu.com/s/1Fs11hW_3XorSK_q0WkYcDA
https://pan.baidu.com/s/1Fs11hW_3XorSK_q0WkYcDA



